A = (24a*h® - 12a°b*)+(-2a2b)?, B = (8a°b* — 4a®b?)+(-ab)?> 4
T, A= (B+3C) = ab® + 1& WHst= 4 ¢& 75hd?

O Cc=b3-2ab%>-1 @ C=0b3-4ab* -2
@ C=20%-ab®-1 @C:2b3—4ab2+1

® CcC=b-ab’>-4
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A = 6b3 — 3ab?, B = 8ab® — 4
A-(B+3C)=ab?+ 1A
A—-B-3C=ab?+1°]1,
3C=A-B-ab®-1
3C = 6b® - 3ab® — 8ab® + 4 — ab® - 1
= 6b% — 12ab® + 3
FAL 302 e
C = 2b° — 4ab® + 1
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D S=a+1 @ S=a-1 ®S=-a+!
@S:al @S*%l

l=(a+2r)n

S = (a+r)n—nr?
= (a® + 2ar +r*)n —nr?
= (a® + 2ar)n

oS =ala+ 2r)n =al
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4207 x 8072 = 16T & WHSP= a o] 27

o3 @ ® 5 @ 6

(22)2a—1 X (23)a—2 — (24)a+1
da-2+3a-6=4a+14
La=4




